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QUESTION: 119 

Which action changes the status of the newly created Work Order to QUEUED? 

A. Approving a Work Order

B. Selecting an Owner Group

C. Applying a Job Plan to the Work Order

D. Creating a Material Request for the Work Order

Answer: D 

Reference: 

http://www- 

01.ibm.com/support/knowledgecenter/SSMAZG_7.1.1/com.ibm.mms.doc_7.1.1/pdf

s/mmw m711_user.pdf

QUESTION: 120 

A user can associate qualifications in which application? 

A. Labor

B. Crafts

C. People

D. Person Groups

Answer: C 

QUESTION: 121 

How is data for deployed assets collected? 

A. with discovery tools

B. with Maximo Base Services

C. with IBM SmartCloud Control Desk

D. by filtering the deployed assets in the Assets application

Answer: C 

QUESTION: 122 

Which two types of records can be associated with a calendar and shift?(Choose 

two) 

http://www-/


A. Tools

B. Items

C. Assets

D. Locations

E. Asset Templates

Answer: C, D 

Reference:  

http://pic.dhe.ibm.com/infocenter/tivihelp/v50r1/index.jsp 

QUESTION: 123 

What are two valid contract types?(Choose two) 

A. Labor Rate

B. Lease/Rental

C. Legal Contracts

D. License Restrictions

E. Terms and Conditions

Answer: A, B 

Reference:  

http://pic.dhe.ibm.com/infocenter/tivihelp/v50r1/index.jsp?topic=%2Fcom.ibm.sc 

cd.doc%2Fimport_asset%2Fc_crontask_params_swkbt.html

QUESTION: 124 

Which application is used for the Assessment phase for upgrading an IT Asset? 

A. Assets

B. Changes

C. Job Plans

D. Work Order Tracking

Answer: B 

QUESTION: 125 

What is true about an item in Planning status? 

A. The item is permanently unavailable for use.

B. The item can be selected and used in all applications.

http://pic.dhe.ibm.com/infocenter/tivihelp/v50r1/index.jsp
http://pic.dhe.ibm.com/infocenter/tivihelp/v50r1/index.jsp?topic=%2Fcom.ibm.sc


C. The item cannot be used anywhere outside the Item Master and Inventory

applications.

D. The item can be referenced in work order plans, purchase orders, and purchase

requisitions.

Answer: C 

QUESTION: 126 

What must be populated when entering Limits and Tolerances? 

A. PR Limit

B. Organization

C. Case Currency

D. Invoice Tolerance

Answer: D 

QUESTION: 127 

Which functionality can be used to copy predefined values to a Service Request? 

A. Quick Insert

B. Reconciliation

C. Service Catalog

D. Ticket Template

Answer: D 

QUESTION: 128 

What are two requirements when transferring items across two 

organizations?(Choose two) 

A. An internal purchase order is created.

B. An internal purchase requisition is created.

C. The two organizations share the same item set.

D. The two organizations share the same company set.

E. The two organizations share the same General Ledger structure.

Answer: B, D 



QUESTION: 129 

Which three files are required when performing IT Asset initialization? 

A. updatedb.bat

B. maximo.properties

C. assetinit.properties

D. solutioninstallerGUI.bin

E. maximoassets.properties

F. AssetlnitDPA75toAssets75.fsn

Answer: A, C, E 

QUESTION: 130 

What are two characteristics of a service item?(Choose two) 

A. It belongs to an item set.

B. It can be received into inventory.

C. It cannot be used for a direct issue.

D. It can be requested using Desktop Requisitions.

E. When in Planning status, financial transactions can be recorded against it.

Answer: B, E 

QUESTION: 131 

Which application can be used to view deployed assets in the enterprise? 

A. Deployed Assets > Assets

B. Deployed Assets > Computers

C. Deployed Assets > Network Items

D. Deployed Assets > Deployed Assets

Answer: A 

QUESTION: 132 

What must be done to an item on the POLine before a license can automatically be 

created from a purchase order? 

A. It must be linked to a rotating asset.

B. It must be linked to a deployed software asset

C. It must be linked to a software product from the Software Catalog.



D. It must be linked to an existing license so that the capacity can be incremented.

Answer: C 

QUESTION: 133 

The Promoted Flag in the Deployed Asset application is used to indicate what about 

the deployed asset? 

A. It has been promoted to a discovered asset.

B. It has been promoted to an authorized asset.

C. It has been created by the promotion of an asset.

D. It has been created by the promotion of a deployed asset.

Answer: A 

QUESTION: 134 

Which statement is true during deployed asset data promotion? 

A. The site specified in deployed asset data is used.

B. The site specified in the deployed asset is not used.

C. Promotion can be performed for multiple sites at a time.

D. Users cannot specify a value in the Site field in the Default Values section of the

Promote to Assets window.

Answer: C 

QUESTION: 135 

Which type of record can be added to the Item Assembly Structure of a non-rotating 

item? 

A. Tool

B. Meter

C. Rotating Item

D. Configuration Item

Answer: D 

QUESTION: 136 

What can a user do when specifying an asset reconciliation task? 



A. Add a third data set.

B. Select Data Set 1 and Data Set 2 will be populated automatically.

C. Select Data Set 2 and Data Set 1 will be populated automatically.

D. Select Task Filter and Data Set 1 and Data Set 2 will be populated automatically.

Answer: B 

QUESTION: 137 

Which record value needs to be changed if a company record is copied? 

A. Company Name

B. Company Master

C. Company Contact

D. Company Inventory Type

Answer: A 

QUESTION: 138 

Once created, licenses can be directly related to which option? 

A. Storerooms

B. Software Contracts

C. Terms and Conditions

D. Authorized Computers

Answer: D 
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